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Instructions: 

 Read the questions carefully. 
 10 minutes extra time is allowed to read this question paper. During this 

time, students will read the question paper only and not write the answer. 
 This question paper comprises of three section A, B and C. 
 Q.no. 1 to 6, carry 1 mark each. 
 Q.no. 7 to 10, carry 2 marks each. 
 Q.no. 11 to 12, carry 3 marks each. 
 All questions are mandatory to attempt. 

 
Section-A 

 
Q1. (i) Multiply: 900 x 30 = ______  ii) Divide:    30  10 = ______           1 Mark 

Q2. Compare the given number using <, > or = sign.                                                  1 Mark 

         6,27,250                    6,27,520 

Q3. The number which comes just before 82,099 is ____________.                    1 Mark 

OR 

         The number just after 8,00,000 is _____________. 

Q4. Use the digits 1, 0, 4, 6, 5 and 2 to form the greatest and the smallest  
  6-digit number. Do not repeat the digits.                                                                   1 Mark 

  Greatest = ________________,                               Smallest = ________________ 

Q5. Write the number in standard form.                                                                          1 Mark 

 4,00,000 + 40,000 + 5,000 + 500 + 50 + 2 = ___________________ 

Q6. Round oƯ the given number to the nearest thousand.                                     1 Mark 

 72,974 ______________ 

 

 



Section – B 
 

Q7. Write the Roman numerals for the following.                                                     2 Marks    

  (i) 29   _______________                            (ii) 15  _______________ 

OR 

Write the Hindu – Arabic numerals for the following: 

(i) XIX   _________________                     (ii) XXVI     _______________ 

Q8. Estimate 11,445 + 12,868 by rounding oƯ to the nearest thousands?    2 Marks 

Q9. Simplify 40 + [7x2 + {18x9 – (728) – 1} ]                                                                2 Marks 

Q10. Fill in the blanks                                                                                                             2 Marks 

(i) 1,40,014 –  _______________ = 1,40,014 
(ii) 10,436 + 5,72,001 = _______________ + 10,436 

 

Section – C 
 

Q11. Each packet has 300 balls. How many balls will 420 packets have?    3 Marks 

OR 

There are 550 notebooks. How many packets can be made of 82 notebooks 
each? 

Q12. Divide and find the quotient.                                                                                   3 Marks 
68,133 by 12 

OR 

Find the product. 
2361 by 12 


